BULLETIN OF MATHEMATICAL ANALYSIS AND APPLICATIONS ISSN: 1821-1291, URL: http://www.bmathaa.org Volume 3 Issue 4 (2011), Pages 180-188

A FIXED POINT RESULT INVOLVING A GENERALIZED WEAKLY CONTRACTIVE CONDITION IN *G*-METRIC SPACES

(COMMUNICATED BY SIMEON RICH)

HASSEN AYDI

ABSTRACT. In this paper, we prove a fixed point result for a self-mapping on a G-metric space satisfying (ψ, φ) -weakly contractive conditions. Besides this, a non-trivial example is presented.

1. INTRODUCTION

Some generalizations of the notion of a metric space have been proposed by some authors. In 2006, Mustafa in collaboration with Sims introduced a new notion of generalized metric space called *G*-metric space [12]. In fact, Mustafa et al. studied many fixed point results for a self-mapping in *G*-metric space under certain conditions, see [11, 12, 13, 14, 15]. For other results on *G*-metric spaces, see [1, 2, 3, 4, 5, 16, 17, 18, 19].

In the present work, we study some fixed point results for a self-mapping in a complete G-metric space X under weakly contractive conditions related to altering distance functions.

Definition 1.1. (altering distance functions [9]) A mapping $f : [0, +\infty[\rightarrow [0, +\infty[$ is called an altering distance function if the following properties are satisfied: (a) f is continuous and non-decreasing.

(b) $f(t) = 0 \iff t = 0$.

We present now the necessary definitions and results in G-metric spaces, which will be useful for the rest.

Definition 1.2. [12] Let X be a nonempty set, and let $G: X \times X \times X \longrightarrow R_+$ be a function satisfying the following properties:

(G1) G(x, y, z) = 0 if x = y = z,

(G2) G(x, x, y) > 0 for all $x, y \in X$, with $x \neq y$,

(G3) $G(x, x, y) \leq G(x, y, z)$ for all $x, y, z \in X$, with $y \neq z$,

(G4) $G(x, y, z) = G(x, z, y) = G(y, z, x) = \dots$, (symmetry in all three variables),

(G5) $G(x, y, z) \leq G(x, a, a) + G(a, y, z)$, for all $x, y, z, a \in X$, (rectangle inequality).

²⁰⁰⁰ Mathematics Subject Classification. 47B10, 46G99, 46G25.

Key words and phrases. G-metric space, fixed point, weak contraction, altering distance. ©2011 Universiteti i Prishtinës, Prishtinë, Kosovë.

Submitted February 4, 2011. Published November 13, 2011.

Then the function G is called a generalized metric, or more specially a G-metric on X, and the pair (X, G) is called a G-metric space.

Definition 1.3. [12] Let (X, G) be a *G*-metric space and let (x_n) be a sequence of points of X, a point $x \in X$ is said to be the limit of the sequence (x_n) , if $\lim_{n,m\to+\infty} G(x, x_n, x_m) = 0$, and we say that the sequence (x_n) is *G*-convergent to x or (x_n) *G*-converges to x.

Thus, $x_n \to x$ in a *G*-metric space (X, G) if for any $\varepsilon > 0$ there exists $k \in \mathbb{N}$ such that $G(x, x_n, x_m) < \varepsilon$ for all $m, n \ge k$.

Proposition 1.4. [12] Let (X, G) be a *G*-metric space. Then, the following are equivalent

(1) $\{x_n\}$ is G-convergent to x

(2) $G(x_n, x_n, x) \to 0$ as $n \to +\infty$

(3) $G(x_n, x, x) \to 0$ as $n \to +\infty$

(4) $G(x_n, x_m, x) \to 0$ as $n, m \to +\infty$.

Definition 1.5. [12] Let (X, G) be a *G*-metric space. A sequence (x_n) is is called a *G*-Cauchy sequence if for any $\varepsilon > 0$ there exists $k \in \mathbb{N}$ such that $G(x_n, x_m, x_l) < \varepsilon$ for all $m, n, l \ge k$, that is $G(x_n, x_m, x_l) \to 0$ as $n, m, l \to +\infty$.

Proposition 1.6. [13] Let (X, G) be a *G*-metric space. Then, the following are equivalent:

(1) the sequence (x_n) is is G-Cauchy

(2) for any $\varepsilon > 0$ there exists $k \in \mathbb{N}$ such that $G(x_n, x_m, x_m) < \varepsilon$ for all $m, n \ge k$.

Proposition 1.7. [12] Let (X, G) be a *G*-metric space. Then $f : X \to X$ is *G*-continuous at $x \in X$ if and only if it is *G*-sequentially continuous at x, that is, whenever (x_n) is *G*-convergent to x, $(f(x_n))$ is *G*-convergent to f(x).

Proposition 1.8. [12] Let (X, G) be a *G*-metric space. Then the function G(x, y, z) is jointly continuous in all three of its variables.

Definition 1.9. [12] A *G*-metric space (X, G) is called *G*-complete if every *G*-Cauchy sequence is *G*-convergent in (X, G).

In [6], Alber and Guerre-Delabriere introduced the concept of weak contraction in Hilbert spaces. After this, Dutta and Choudhuty [8] obtained on a complete ordinary metric space a fixed point result for a self map involving a (ψ, φ) - weakly contractive condition. It is the following

Theorem 1.10. [6] Let (X, d) be a complete metric space. Suppose the map $f : X \to X$ satisfies for all $x, y \in X$

$$\psi\left(d(fx, fy)\right) \le \psi\left(d(x, y)\right) - \varphi\left(d(x, y)\right),$$
(1.1)

where ψ and φ are altering distance functions given in Definition 1.1. Then f has a unique fixed point.

Motivated by the above result, we address the same question on G-metric spaces. More precisely, taking a self-mapping on a complete G-metric space satisfying a generalized weak contraction condition given by (2.1), we establish a fixed point result. In the second part of the paper, an example is also presented.

2. MAIN RESULTS

Our first main result is the following

Theorem 2.1. Let X be a complete G-metric space. Suppose the map $T: X \to X$ satisfies for all $x, y, z \in X$

$$\psi\left(G(Tx,Ty,Tz)\right) \le \psi\left(G(x,y,z)\right) - \varphi\left(G(x,y,z)\right),$$
 (2.1)

where ψ and φ are altering distance functions given in Definition 1.1. Then T has a unique fixed point (say u) and T is G-continuous at u.

Proof. Let x_0 be an arbitrary point in X, and let $x_{n+1} = Tx_n$ for any $n \in \mathbb{N}$. Assume $x_n \neq x_{n-1}$. For $n \in \mathbb{N}$, we have thanks to (2.1) and definition of φ

$$\psi\left(G(x_n, x_{n+1}, x_{n+1})\right) = \psi\left(G(Tx_{n-1}, Tx_n, Tx_n)\right)$$
$$\leq \psi\left(G(x_{n-1}, x_n, x_n)\right) - \varphi\left(G(x_{n-1}, x_n, x_n)\right) \qquad (2.2)$$
$$\leq \psi\left(G(x_{n-1}, x_n, x_n)\right).$$

Since ψ is non-decreasing, we get that

$$G(x_n, x_{n+1}, x_{n+1}) \le G(x_{n-1}, x_n, x_n).$$
(2.3)

If we take $t_n = G(x_n, x_{n+1}, x_{n+1})$, then from (2.3), we get $0 \le t_n \le t_{n-1}$, so the sequence (t_n) is non-increasing, hence it converges to some $r \ge 0$. Letting this in (2.2), then as $n \longrightarrow +\infty$

$$\psi(r) \le \psi(r) - \varphi(r),$$

using the continuity of ψ and φ . Then, we find $\varphi(r) = 0$, hence by a property of φ , we have r = 0. We rewrite this as

$$\lim_{n \to +\infty} G(x_n, x_{n+1}, x_{n+1}) = 0.$$
(2.4)

Next, we prove that (x_n) is a *G*-Cauchy sequence. We argue by contradiction. Assume that (x_n) is not a *G*-Cauchy sequence. Then, following Proposition 1.6, there exists $\varepsilon > 0$ for which we can find subsequences $(x_{m(k)})$ and $(x_{n(k)})$ of (x_n) with n(k) > m(k) > k such that

$$G(x_{n(k)}, x_{m(k)}, x_{m(k)}) \ge \varepsilon.$$

$$(2.5)$$

Further, corresponding to m(k), we can choose n(k) in such a way that it is the smallest integer with n(k) > m(k) and satisfying (2.5). Then

$$G(x_{n(k)-1}, x_{m(k)}, x_{m(k)}) < \varepsilon.$$

$$(2.6)$$

We have, using (2.6) and the condition (G5), that

$$\varepsilon \leq G(x_{n(k)}, x_{m(k)}, x_{m(k)}) \leq G(x_{n(k)}, x_{n(k)-1}, x_{n(k)-1}) + G(x_{n(k)-1}, x_{m(k)}, x_{m(k)})$$

$$< \varepsilon + G(x_{n(k)}, x_{n(k)-1}, x_{n(k)-1}).$$

(2.7)

182

In other words, from the conditions (G3)-(G4)

$$0 \le G(x_{n(k)}, x_{n(k)-1}, x_{n(k)-1}) = G(x_{n(k)-1}, x_{n(k)-1}, x_{n(k)}) \le G(x_{n(k)-1}, x_{n(k)}, x_{n(k)})$$

Letting $k \to +\infty$, and using (2.4), we find $G(x_{n(k)}, x_{n(k)-1}, x_{n(k)-1}) \to 0$. We take this in (2.7)

$$\lim_{k \to +\infty} G(x_{n(k)}, x_{m(k)}, x_{m(k)}) = \varepsilon.$$
(2.8)

Moreover, we have thanks to condition (G4)

$$G(x_{n(k)}, x_{m(k)}, x_{m(k)}) \leq G(x_{n(k)}, x_{n(k)-1}, x_{n(k)-1}) + G(x_{n(k)-1}, x_{m(k)-1}, x_{m(k)-1}) + G(x_{m(k)-1}, x_{m(k)}, x_{m(k)}),$$

$$G(x_{n(k)-1}, x_{m(k)-1}, x_{m(k)-1}) \leq G(x_{n(k)-1}, x_{n(k)}, x_{n(k)}) + G(x_{n(k)}, x_{m(k)}, x_{m(k)}) + G(x_{m(k)}, x_{m(k)-1}, x_{m(k)-1}).$$

Letting $k \longrightarrow +\infty$ in the two above inequalities and using (2.4)-(2.8)

$$\lim_{k \to +\infty} G(x_{n(k)-1}, x_{m(k)-1}, x_{m(k)-1}) = \varepsilon.$$
(2.9)

Setting $x = x_{n(k)-1}$ and $y = y_{m(k)-1}$ in (2.1) and using (2.5), we obtain thanks to the fact that ψ is increasing

$$\psi(\varepsilon) \leq \psi(G(x_{n(k)}, x_{m(k)}, x_{m(k)})) = \psi(G(Tx_{n(k)-1}, Tx_{m(k)-1}, Tx_{m(k)-1}))$$

$$\leq \psi(G(x_{n(k)-1}, x_{m(k)-1}, x_{m(k)-1}) - \varphi(G(x_{n(k)-1}, x_{m(k)-1}, x_{m(k)-1})).$$

Letting $k \to +\infty$, then using (2.9) and the continuity of ψ and φ , we get

$$\psi(\varepsilon) \le \psi(\varepsilon) - \varphi(\varepsilon),$$

yielding that $\varphi(\varepsilon) = 0$, which is a contradiction since $\varepsilon > 0$. This shows that (x_n) is a *G*-Cauchy sequence and since *X* is a *G*-complete space, hence (x_n) is *G*-convergent to some $u \in X$, that is from Proposition 1.6

$$\lim_{n \to +\infty} G(x_n, x_n, u) = G(x_n, u, u) = 0.$$
 (2.10)

We show now that u is a fixed point of the map T. From (2.1),

$$\psi\left(G(x_{n+1}, x_{n+1}, Tu)\right) = \psi\left(G(Tx_n, Tx_n, Tu)\right)$$
$$\leq \psi\left(G(x_n, x_n, u)\right) - \varphi\left(G(x_n, x_n, u)\right).$$

Thanks to (2.10) and the continuity of ψ and φ , we find

$$\lim_{n \to +\infty} G(x_{n+1}, x_{n+1}, Tu) = 0.$$
(2.11)

Again, using the conditions (G4) and (G5) given by Definition 1.2, one can write

$$G(u, u, Tu) \le G(u, u, x_{n+1}) + G(x_{n+1}, x_{n+1}, Tu).$$

Letting $n \to +\infty$ in the above inequality and having in mind (2.10) and (2.11), one finds G(u, u, Tu) = 0, and then Tu = u. Hence u is a fixed point of T. Let us show

its uniqueness. Let v be another fixed point of T, then

$$\psi\left(G(u, u, v)\right) = \psi\left(G(Tu, Tu, Tv)\right)$$
$$\leq \psi\left(G(u, u, v)\right) - \varphi\left(G(u, u, v)\right).$$

It follows that $\varphi \left(G(u, u, v) \right) = 0$, and then G(u, u, v) = 0, yielding that u = v.

Following Proposition 1.7, to show that T is G-continuous at u, let (y_n) be any sequence in X such that (y_n) is G-convergent to u. For $n \in \mathbb{N}$, we have

$$\psi\left(G(u, u, Ty_n)\right) = \psi\left(G(Tu, Tu, Ty_n)\right)$$
$$\leq \psi\left(G(u, u, y_n)\right) - \varphi\left(G(u, u, y_n)\right).$$

Letting $n \to +\infty$ and using again the continuity of ψ and φ , the right-hand side of the above inequality tends to 0, then we obtain

$$\lim_{n \to +\infty} G(u, u, Ty_n) = 0$$

Hence $(Ty_n)_n$ is G-convergent to u = Tu, so T is G-continuous at u.

As an application of Theorem 2.1, we have the following corollaries.

Corollary 2.2. Let X be a complete G-metric space. Suppose the map $T: X \to X$ satisfies for $m \in \mathbb{N}$ and $x, y, z \in X$

$$\psi\left(G(T^m x, T^m y, T^m z)\right) \le \psi\left(G(x, y, z)\right) - \varphi\left(G(x, y, z)\right),$$
(2.12)

where ψ and φ are altering distance functions given in Definition 1.1. Then T has a unique fixed point (say u), and T is G-continuous at u.

Proof. From Theorem 2.1, we conclude that T^m has a unique fixed point say u. Since

$$Tu = T(T^m u) = T^{m+1}u = T^m(Tu),$$

we have that Tu is also a fixed point to T^m . By uniqueness of u, we get Tu = u. \Box .

Corollary 2.3. Let X be a complete G-metric space. Suppose the map $T: X \to X$ satisfies for all $x, y, z \in X$

$$G(Tx, Ty, Tz) \le kG(x, y, z), \tag{2.13}$$

where $k \in [0,1)$, then T has a unique fixed point (say u), and T is G-continuous at u.

Proof. It suffices to take in Theorem 2.1, $\psi(t) = t$ and $\varphi(t) = 1 - k$ for $k \in [0, 1)$. \Box .

Remark 2.4. Corollary 2.3 corresponds to Theorem 2.1 in [11].

3. Example

We give in this section an example illustrating Theorem 2.1. Let $X = [0, 1] \cup \{2, 3, 4, ...\}$ and

$$G(x,y,z) = \begin{cases} \max\{|x-y|, |y-z|, |z-x|\} & \text{if} \quad x, y, z \in [0,1] \\ \text{and at least} \quad x \neq y \quad \text{or} \quad y \neq z \quad \text{or} \quad z \neq x \\ x+y+z \quad \text{if at leat} \quad x \quad \text{or} \quad y \quad \text{or} \quad z \notin [0,1] \\ \text{and at least} \quad x \neq y \quad \text{or} \quad y \neq z \quad \text{or} \quad z \neq x \\ 0 \quad \text{if} \quad x=y=z. \end{cases}$$

It is a simple exercise that (X, G) is a *G*-metric space. We claim that it is a *G*-complete space. To do this, let $\{x_n\}$ be a *G*-Cauchy sequence in *X*. By proposition 1.6, for any $\varepsilon > 0$ there exists $n_0 \in \mathbb{N}$ such that for any $n \ge n_0$ and $m \ge n_0$, we have $G(x_n, x_m, x_m) < \varepsilon$. We distinguish two cases.

- (1) If $x_n = x_m$. Here $G(x_n, x_m, x_m) = 0$ for any $m, n \ge n_0$. In particular, $G(x_n, x_{n_0}, x_{n_0}) = 0$, which gives that the sequence $\{x_n\}$ *G*-converges to x_{n_0} .
- (2) If $x_n \neq x_m$.

The sequence $\{x_n\}$ is G-Cauchy, hence by definition of G, we have necessarily x_n and x_m are in [0, 1]. As a consequence,

$$|x_n - x_m| =: G(x_n, x_m, x_m) < \varepsilon_1$$

for any $m, n \ge n_0$. We find that $\{x_n\}$ is a Cauchy sequence in [0, 1], which is complete with respect to the metric $| \cdot |$. Hence, there exists $x \in [0, 1]$ such that $|x_n - x| \to 0$ as $n \to +\infty$. There are two possibilities, that are $x = x_n$ and then $G(x_n, x, x) = 0$, or $x \neq x_n$ and so $G(x_n, x, x) = |x_n - x|$. Always, we obtain

$$\lim_{n \to +\infty} G(x_n, x, x) = 0,$$

meaning that $\{x_n\}$ G-converges to x. In the two cases we have the completeness of (X, G).

Now, let $\psi: [0, +\infty[\rightarrow [0, +\infty[$ such that

$$\psi(t) = \begin{cases} t & \text{if } 0 \le t \le 1\\ t^2 & \text{if } t > 1. \end{cases}$$

Again, we define $\varphi: [0, +\infty[\longrightarrow [0, +\infty[$ such that

$$\varphi(t) = \begin{cases} \frac{1}{2}t^2 & \text{if } 0 \le t \le 1\\ \frac{1}{2} & \text{if } t > 1. \end{cases}$$

Moreover, let $T: X \longrightarrow X$ be defined as

$$Tx = \begin{cases} x - \frac{1}{2}x^2 & \text{if } 0 \le x \le 1\\ x - 1 & \text{if } x \in \{2, 3, 4, \ldots\} \end{cases}$$

It is obvious that ψ and φ verifies hypotheses of Theorem 2.1. Without loss of generality, we assume that x > y > z and discuss the following cases:

<u>Case 1</u>: $x \in [0, 1]$

Here, necessarily y > z and $y, z \in [0, 1]$. By definition of G, we have

$$G(x, y, z) = \max\{|x - y|, |y - z|, |z - x|\} = x - z \in [0, 1].$$

It follows that by definition of ψ and φ

$$\psi(G(x, y, z)) - \varphi(G(x, y, z)) = G(x, y, z) - \frac{1}{2}G^{2}(x, y, z)$$
$$= (x - z) - \frac{1}{2}(x - z)^{2}$$
$$\geq (x - z) - \frac{1}{2}(x^{2} - z^{2}).$$
(3.1)

Again, by definition of T, we get $Tx, Ty, Tz \in [0, 1]$ and

$$Tx = x - \frac{1}{2}x^2 > Ty = y - \frac{1}{2}y^2 > Tz = z - \frac{1}{2}z^2,$$

and hence

 $G(Tx,Ty,Tz) = \max\{|Tx-Ty|,|Ty-Tz|,|Tz-Tx|\} = Tx-Tz = [(x-z) - \frac{1}{2}(x^2 - z^2)] \in [0,1].$ It follows that

$$\psi(G(Tx, Ty, Tz)) = G(Tx, Ty, Tz) = (x - z) - \frac{1}{2}(x^2 - z^2),$$

(3.1) gives us

$$\psi(G(Tx,Ty,Tz)) \leq \psi(G(x,y,z)) - \varphi(G(x,y,z)).$$

Then the inequality (2.1) holds.

<u>Case 2</u>: $x \in \{3, 4, ...\}$

Since x > y > z, hence y may be in $\{3, 4, ...\}$ or in [0, 1]. We start with the case when $y \in \{3, 4, ...\}$. Even here, we have two cases for z, indeed $z \in \{3, 4, ...\}$ or in [0, 1].

• If
$$z \in \{3, 4, ...\}$$
. Here, $Tx = x - 1 > Ty = y - 1 = Tz = z - 1 \ge 2$. Then
 $G(Tx, Ty, Tz) = Tx + Ty + Tz = x + y + z - 3 > 1$.

We deduce then

$$\psi(G(Tx, Ty, Tz)) = G^2(Tx, Ty, Tz) = (x + y + z - 3)^2.$$
(3.2)

In other words, G(x, y, z) = x + y + z > 1, so

$$\psi(G(x, y, z)) - \varphi(G(x, y, z)) = G^2(x, y, z) - \frac{1}{2}$$

$$= (x + y + z)^2 - \frac{1}{2}.$$
(3.3)

Comparing (3.2) to (3.3) we find

$$\psi(G(Tx,Ty,Tz)) \leq \psi(G(x,y,z)) - \varphi(G(x,y,z)),$$

meaning that (2.1) holds.

• If $z \in [0, 1]$. Here, we have G(x, y, z) = x + y + z > 1, then

$$\psi(G(x, y, z)) - \varphi(G(x, y, z)) = G^{2}(x, y, z) - \frac{1}{2}$$

$$= (x + y + z)^{2} - \frac{1}{2}.$$
(3.4)

186

Again, since $Tz = z - \frac{1}{2}z^2 \in [0, 1]$ and $Tx = x - 1 \neq Ty = y - 1 > 1$, then $G(Tx, Ty, Tz) = Tx + Ty + Tz = x + y + z - 2 - \frac{1}{2}z^2 > 1$. Therefore,

$$\psi(G(Tx,Ty,Tz)) = G^2(Tx,Ty,Tz) = (x+y+z-2-\frac{1}{2}z^2)^2.$$
(3.5)

We compare (3.4) to (3.5) to get that (2.1) holds.

Let us now do the case where $y \in [0, 1]$. Here, $y > z \in [0, 1]$. The same strategy yields that

$$\psi(G(Tx, Ty, Tz)) = \psi\left(G(x - 1, y - \frac{1}{2}y^2, z - \frac{1}{2}z^2)\right)$$

= $\psi(x + y + z - 1 - \frac{1}{2}y^2 - \frac{1}{2}z^2)$
= $(x + y + z - 1 - \frac{1}{2}y^2 - \frac{1}{2}z^2)^2.$ (3.6)

Moreover,

$$\psi(G(x, y, z)) - \varphi(G(x, y, z)) = (x + y + z)^2 - \frac{1}{2}.$$

We deduce then

$$\psi(G(Tx,Ty,Tz)) \le \psi(G(x,y,z)) - \varphi(G(x,y,z)),$$

that is the inequality (2.1).

<u>Case 3</u>: x = 2

In this case, since x > y > z, we have necessarily $y, z \in [0, 1]$. Here, we have

$$\psi(G(Tx, Ty, Tz)) = \psi\left(G(1, y - \frac{1}{2}y^2, z - \frac{1}{2}z^2)\right)$$

= $\psi(1 - (z - \frac{1}{2}z^2))$
= $1 - (z - \frac{1}{2}z^2).$ (3.7)

Again,

$$\psi(G(x,y,z)) - \varphi(G(x,y,z)) = \psi(2+y+z) - \varphi(2+y+z) = (2+y+z)^2 - \frac{1}{2}.$$

It is clear that (2.1) holds.

As a conclusion, the hypotheses of Theorem 2.1 are verified, and then we find that u = 0 is the unique fixed point of T in X.

References

- M. Abbas, A.R. Khan and T. Nazir, Coupled common fixed point results in two generalized metric spaces, Appl. Math. Comput. (2011), doi:10.1016/j.amc.2011.01.006.
- [2] M. Abbas, T. Nazir and P. Vetro, Common fixed point results for three maps in G-metric spaces, Filomat 25 (2011), 1-17.
- [3] H. Aydi, B. Damjanović, B. Samet and W. Shatanawi, Coupled fixed point theorems for nonlinear contractions in partially ordered G-metric spaces, Math. Comput. Modelling 54 (2011) 2443-2450.
- [4] H. Aydi, Common fixed point results for non linear contractions in G-metric spaces, Accepted in Vesnik Math. (2011).
- [5] B.S. Choudhury and P. Maity, Coupled fixed point results in generalized metric spaces, Math. Comput. Modelling 54 (2011), 73?79.

HASSEN AYDI

- [6] Y. I. Alber and S. Guerre-Delabriere, Principle of weakly contractive maps in Hilbert spaces, in New Results in Operator Theory and Its Applications, I. Gohberg and Y. Lyubich, Eds., vol. 98 of Operator Theory: Advances and Applications, pp. 7?22, Birkh?auser, Basel, Switzerland, 1997.
- [7] D. W. Boyd and J. S. W. Wong, On nonlinear contractions,? Proceedings of the American Mathematical Society, 20 (2) (1969), 458?464.
- [8] P. N. Dutta nad Binayak S. Choudhury, A generalization of contraction principle in metric spaces, Fixed Point Theory Appl. Volume 2008, Article ID 406368, 8 pages doi:10.1155/2008/406368.
- [9] M.S. Khan, M. Swaleh, S. Sessa, Fixed point theorems for altering distances between the points, Bull. Aust. Math. Soc. 30 (1) (1984), 1-9.
- [10] J. Matkowski, Fixed point theorems for mappings with a contractive iterate at a point, Proc. Amer. Math. Soc. 62 (2) (1977), 344?348.
- [11] Z. Mustafa, H. Obiedat, and F. Awawdeh, Some fixed point theorem for mapping on complete G-metric spaces, Fixed Point Theory Appl. Volume 2008, Article ID 189870, 12 pages, 2008.
- [12] Z. Mustafa and B. Sims, A new approach to generalized metric spaces, J. Nonlinear and Convex Anal. 7 (2) (2006), 289?297.
- [13] Z. Mustafa and B. Sims, Some remarks concerning D-metric spaces, in Proceedings of the International Conference on Fixed Point Theory and Applications, pp. 189?198, Yokohama, Yokohama, Japan, 2004.
- [14] Z. Mustafa and B. Sims, Fixed point theorems for contractive mappings in complete G-metric spaces, Fixed Point Theory Appl. vol. 2009, Article ID 917175, 10 pages, 2009.
- [15] Z. Mustafa, W. Shatanawi and M. Bataineh, Existence of fixed point results in G-metric spaces, International J. Math. Math. Sciences, vol. 2009, Article ID 283028, 10 pages, 2009.
- [16] W. Shatanawi, Fixed Point Theory for Contractive Mappings Satisfying Φ-Maps in G-Metric Spaces, Fixed Point Theory Appl. Volume 2010, Article ID 181650, 9 pages doi:10.1155/2010/181650.
- [17] W. Shatanawi, Some fixed point theorems in ordered G-metric spaces and applications, Abst. Appl. Anal. Vol (2011) Article ID 126205.
- [18] W. Shatanawi, Coupled fixed point theorems in generalized metric spaces, Hacettepe Journal Math. Stat. 40 (3) (2011), 441-447.
- [19] W. Shatanawi, M. Abbas and T. Nazir, Common coupled coincidence and coupled fixed point results in two generalized metric spaces, Accepted in Fixed point Theory Appl. (2011).

(H. Aydi) UNIVERSITÉ DE SOUSSE. INSTITUT SUPÉRIEUR D'INFORMATIQUE ET DES TECHNOLO-GIES DE COMMUNICATION DE HAMMAM SOUSSE. ROUTE GP1-4011, H. SOUSSE, TUNISIE E-mail address: hassen.aydi@isima.rnu.tn

188